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‘This cell organelle is olongated, spherical, or
rod shaped in structure. s thesite ofcellular
respiration or oxidation of food and is also
known as power house of the cell Identify the
cellorganeile

(4) Golgiapparatus
®) Endoplasmic re
(€) Mitochondria
) Ribosomes

() Noneof these:

dum

Fillng up improper Roll Number may taad to waavalablity of Rsul,
Mark yous answors(A, . C. D or ) on the Answer shee with pencil oy

atempting tho test paper until you are ssked to do so,
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1 o op o the question Puper n the g

n careles squsl marking of 25 marks,

Select the part of alimentary canal in which the
following reactions take place:
Starch — Maltose Pancreatic Amylase

Proteins ——s Poptides Trypsin

D s | T T "
in human body, The followins figure shows the ’,‘“ = Bl ;ng‘,’ e
digestive system with important parts of 13 a
alimentary canal marked as A, B, C, D, and E: (G 21D:

® E
Aot I T




[image: image2.jpg]3. Whichof e following tatementssnotafeatur

ofevalution by patural section?

{4) A population consists ofindividuals with a
variey of phenotypes.

) Anindividual evolvos.

(©) A population lives i an environmont that
exorts salectiva prossuro on individuls.

0) Tndividuals having better ait survivo and
soproduce belte than other individuals.

) Nonoof these

4. Tho genetic make-up of the father is xxYy and
the genetic make-up of the mother is XxYY.
‘Whichafthe following X trait and ¥ trait genetic
‘combinations for  child are not possible?

() X ® XX
© 3y (D) Both Band C
(E) Noneof these -

Threo expeciments are performed in a
laboratory.
ExperimentI: A magnotis heated over a burnor
il loses it magnetisn.
ExperimentI: Calcium casbonate or imestone
isheated, as aresult of which it docomposesnto
calcium oxide and carbon dioxide
Experiment I Sandand sugars mixed i water
“This misture i then passed through afiler paper
toseparate sand and sugar solution.
Which of the preceding experiments involves
alteration o chemical properly?

(a) Experimont, 11, and 1l

() Experimentl

©) Exposimont It

() Experimont 1and 1

(5 Noneof these
6. The table given below shows four chemical
reactions:

7. According to the arrangement of elements in
periodic table, which of e following clements
is most likely to have properties similar to
fuorine?

(®) Gold
(€) Bromine
() Nonoof these

8. Statement A: Tho angle of refraction i always.
‘equalto theangle of incidence
Statement B: Refraction of light i dus (0 the
‘change inthe speed of light wiile entering from
one medium o another.

(A) Statement Als correct

8) Statement Bis correct

(C) Both statement A and B aro correct
D) Both statement A and Bare incomect
(8 None ofthese

) Assonic
) Xenon

9. Disjersion oflight is involve in the process of
formation of rainbow. Which one of the
following acts as prism in the formation of
rainbow?

®) Cloud
D) Raindrops

frontof the eye is Bocun, Eyk specialis suggests
him for concave lens.

‘What will be the power of his Lens?

() +125dioptros  (8) +1.05 dioptres

(©) -1.25diopires (D) -1.05 dioptres.

(E) Noneof these

11, Which one of the following gases is filled in
lamentypeelectric bulb?
(&) Nitrogon ® Cabon
© Hydogen D) Owygen
(E) Noneof these

e

Which of the preceding chemical reactions satisfy
thelaw of conservation of mass?

(3) Equation 1and 2 (8) Equation 1and &

(€) Equation 3and 4 (D) Equation 2and 4

) None of those
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12. India has been emphasizing continuously lo use
the nuclear enoray for peaceful pusposes hatis
especiallyfor the gencration ofelctricity, What
‘percentago of total production of electricity in
India comes from nuclear energy?
®) 3% ® 5%
© 6% © 8%

() None of these
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[image: image3.jpg]13. The depletion of ozone layer is a matter ofgreat
concernallover the world. It is mainly causod
by the wse of chlarofluarocarbons (CFC). How
can we reduce the amount of CFC so that we
can present further damago to th ozone layer?
1. By minimizing tho uso of air conditioners
2. By minimising theuso of rfgerators
3. By minimizing tho smoko of vohiclos
4. By planting more rees
5. By discouraging the industialization
@12
© 23
© 34
o 45
) Noneof thoso

el 0 e

14. People of Rajasthan have been using a specia
technique to conserve the water a5 they are
facingthescarcity of water. Whats the nafe of
this technique?

(&) Ralmvater harvesting
® Khudin

(©) Diggingwell

© Jrin

) Noncof theso

A A o

15. One of the parents is Homozygous dominan for
free earlobes while other parent s recossive for
attached carlobes. What aro the chancos that
thei offspring will have alached carlobis?

1A) 0% (B) 509
© 25% o 75%
(E) None of thes
o T s i

16, Given below the two statements. Which one of
the lollowing s correct?
‘Statement 4 The two main organs of uman body
swhere the magnetic field is produced are heart
and brain,
‘Statement B The two main organs of human
body where the magnetic feld is not produced
aro heartand brain.
(4) Statemont A is correct
() Statement Bis comect
(C) Both statement A and B o correct
() Both statement A and Bare incorroct
(E) Both statemont A and B are partly correct

REF/i0S'10/AGM

17. Astudentin alab akes equal amount o solution
afwater and lttle sugar, honey, and syrup and
put these on three scparate smooth tables
‘Predict that whatwill happen, when he slanty
cach tabloat the same angle?

(&) Honey will flow down with high spocd as
‘compared to syrup and the olution of water
and sugar

®) Syrup will flow down with high spoed as
compared to Honey and the soluton ofwater
and sugar

©) Syrupwill low down with very slow speod
25 compared to Honoy and the solution of
walorand sugar,

D) Solution of water and sugar il flow down

th high speed as compared to Honey and

Symup.

) None of theso
ety o
10. Which one of the following statements correctly

describes the buoyant force?

(4) Tho buogantforce ithe downvard force that

i when it displaces the

{8) Thebuoyant force s the upward forcothata
fuid exarts on an objoct n the fluid
(©) Thebuoyant orce i the upward forcothata
luid exerts on luid whon it isplaces the
fuid
0) The buoyant forceis the dowvard forc that
luid oxerts on an object n tho fuid
® Nonoof theso
o Tl (REE Y
19. A stulent takes 603 hydrogen s and 455 of
oxyzen gas Ho burns these gasesto form waier,
How much water e can form afler burning thess

asses?
®) 60g ) 455
(€) 105g o) 158

() Noneof these

20, Which ane of tho followi
equation?
(A) Mg(OH), + HCI > MgCl, + H,0
(B) Mg(OH), + HCI» MgCl, + 2H,0
(©) M(OH), + 2HCI > MgCl, + 211,0
D) 2Mg(OH), + ZHCI-» 2MgCl, + 2H,0
() Noneof these

the correctbalance




[image: image4.jpg]21. Givena listof pair of elements;
Carbonand hydrogen, hydrogen and nitrogen, carbon
‘and magresium, oxygen and nitrogen, sodium and
chlorine, hydrogen and oxygon, sodium and oxygan,
and oxygon and cobalt
Select the pair of clements that build the covalent
bond
(A) Carbon and hydrogen, hydrogon and
nitrogen, oxygon andnitrogen, and hydrogon
and oxygen.
®) Carbon and hydrogen, carbon and

() Thosolubility ofsodium chlorids willemain
o

) The solubility of sodium chloride will
docroase

(©) The solubility of sodium chlorido will

) The solubility of sodiuin chlorids will
increase for somo time and remain same noxt
time

(®) Noue oftheso

b 2. Steve has four bls: A, B, C, and D The mass of
"“‘f"“"“"" °’gg"" . ::"‘5:;: ol ball A is 20 kg, the mass of ball B is 35 ks, the
. andoxygan, and oxygon and cobalt. mass of ball Cis 40 ks, and the mass of ball D
(C) Carbon and magnesium, oxygen and 60 kg. Steve hits the ball by a stick one by
nitrogen, sodiumand chlorine, hydrogenand | - gpe, Which ball requires more force to push 10
oxygen, and sodium and osygen. St
©) Carbon and hydrogen, hydrogen and | (a) 14 ® BB
sitrogen, carbon and magnesium, oxgenand | (6] puy ¢ 0 Ball5
nitrogon, and oxygon and cobl e
) None of these
26. A person has an 8 year old Gorman shepherd
22 -rn; d nl:;nﬂh‘\’n of lhmnscr:al into it m’fm mm“{dmﬂmwmnfmﬂ
‘Consttucnt atoms dus o chemical reaction s | oxcossivo urination, drinking and weight goin
colled__. s obsorved Ants wero atracted o tho urin of
(8) Rusting the dog. Which ono of the following glands is
®) Comosion not working propecly i the body of the dog?
C) Rancidity (A) Adronalgland  (8) Pancroaticgland
) Nonoof thesa (©) Pituitarygland (D) Thyroid gland
) Nonoof theso ® Noneaftheso
23, Given a lst of clements: CI, As, B, N, S, O, | 27, Concave mirrors are used as roflectors in the

13,1, Ca, Crand B

Select the option that correctly arranges the above

elomonts from most electronegativity to loast

electronegal
(8) C1,Br 1,0, S, E N, Ca, As, B, Cr, and Li
() F.As,CLB5 1,0, 5, N, B, Cr, Ca, and Li
(©) EBr,N.1,CL.O,, As, B, Cr, Ca, and L
() ECLBx 1, 0,8, N, As, B, Cr, Ca, and Li
() None oftheso

. Astudent dissolves 408 of sodium chlorido in
100 ofwater at 20°
What will happen whe e tries 0 dissolve o
extra amount of sodium chlorde i this solution
by increasing the emperature?

head light of vehicles and forches. Which onoof

the following can be the possible reason for the

same?

(3) Alighted bulb placed at the ocusofaconcave
relector produces an enlarge image o light

) Alighted bulb placed atthe focusofa concave
reflectorproducesa powerful beam o pasalll
lightrays.

(C) Alighted bulb placed i the focusof a concave
relectorproducesa powesful beam of parallel
lightrays.

D) Alighted bulb placed at the focus ofa coucave
roflector produces a converging lightrays.

(E) Nonoof those.
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[image: image5.jpg]28, According to the following geaph, what was
the automobile's acceleration betsween 10 and
15seconds?

Accsleration ofan Automobile
T

(4) Rightventriclo
) Rightatsium
(© Leftatrium
) Allofthese
(®) Nonoofthese

Time
®)

@) 0domist

® 008mist
(© 4mis

© 276mst
(4) None o theso

20, At cortain place the olectrical appliances are
connected in a series. The overall resistance of
the crcuit increases oo much. What will be s
impact?
{A) The current from the power supply is low
) The curcent from the pover supply i high
(C) The current from the power supply is normal
) Alloftheso
&) Noneofthese

30, What happens during the short circuit?
(A) The current in the circuit varies continuously.
() The currentin the circuit docreases heavily
(C) ‘The current in the crcuit increases heavily
) Allof these.
(®) Noneofthese

31, What is the rank of India in the world in
harmessing wind energy for the production of
dlectricity?

(@) 3t
® s&
© 8"
o o
8) None of these

REFFOS'TO/AGM

3. How many times in a day do tidal waves build.
up and recede?
(A) Onoe
) Twice
(€) Thrice
) Soveral times
) Noneof theso

34. There isa device in the motor which is used to
reverse the direction of current in the coil of a.
motor, Whatis the name of this device?

(A) Commutator ~* (8) Magnetic ield
(©) Amaturo ©) Allofthose
(®) Noeofthese

35. The sun s visibl to s about two minutes beforo
the actual sunrise and two minutes after the
actual sunset. Which one of the following is
respansible for the same?

(4) Roflection o light

® Rofractionof light

(€) Atmospheric efraction
©) Alofthese

() Noneof those

36. Which oneof the followingis true abou the role
of respiratory system in our speech?
(A) Respiratory system hasno role in our speoch.

“The speech ofa person i entiroly dopendent
‘upon the vocal cords.

) Exhaled airfrom the hings vibrates the vocal
cords,

(€) Respiratory systom has o rolo in our specch.
s the pushing of oxygenated blood from.
the circulatory systom in tho cell o the vocal
cords that helps in speech.

) Lungs push blood in the vocal cords that
helps in spoech.

(®) Noncoftheso

s 10 |
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37. Aperson is suffring from sickle col anacimi A
Inthis discass more of abnormally shaped red

blood cellsare present in the systom, Which one:
ofthe following organs needs o enlarge so that
it can dispose the increased number of worn
outred blood colls?

(&) Thymus

®) Appendix

3. The following options describe the property of
four types of bio-molecules. Which one of these
four contains phosphorus?

{4) They arothe main source of providing energy
o human body

) Thoy store energy and make up cell
membeanes,

(©) They are needed for the growth and repair
of human body.

0) They store and transmit gentic information

(E) Noneof theso.

39, Which one of the folloing statemnts s most
probably correct about the following coll?

(&) tis a coll of an elophant because it has cell
vall,

) isa cell of fungi because it has cell wall.

(€) Itisa cell of a human boing becauss it has
Fhosome

D) lisacellofamangotree bocausot has rough
endoplasmic reticulum.

(&) Noneof theso

Class 104 Page.i6: | |

0. Before undergoling mitosis, a pareatcell ofa dog,
‘had 23 chromosomes. Aflr cell division, each
ofthe two daughter cells should haves
(4) 23chromosomes.

) 11 chromosomes.

(€) 12 chromosomes

©) Ono daughter cell has 11 chromosomes and
other has 12 chromosomes.

() Noneof thesa
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